JV—-0DaEk

2ty YF XB5=10m D=6 H=41 HPE=2= BAI}=05
R - _ _ . _ ) tyhE |RAURE
m+7%Ssve —#—= MAX X{TA %EE oO—5 A o—5 C EASYZ-A |h¥ IS h(A)| B—T 2y [[:Los
x| 8] %
1 16 | 14 10 |15 15| 9 1 |15 15 |12 15 |12 13 |15 15 9 13 |15
2 0 08000 | 09715
m+75SVe 15 |13 12 |15 17 |16 13 |15 12 |15 16 |17 5 |15 5] 9 1 |15 40 6
10 0 10 6 10 0 8 |10 239‘246
2 14 | 16 13 |15 15 | 0 9 |15 6 |15 12 |15 6 |15 15 |11 10 |15
0 2 2 0 02857 | 08170
—H—= 13 | 15 7 |15 150 6 |15 13 |15 10 | 15 7 |15 15 |13 6 |15 20 8
0 0 10 0 10 0 4 |14 192‘235
3 15 | 10 15 | 13 15 |11 17 |16 12 |15 8 |15 7 |15 15 |13 12 |15
2 0 2 0 12500 | 0.9751
MAX 15 | 12 15| 7 15 |11 8 |15 1 |15 16 |14 14 |16 15 |13 10 | 15 44 5
10 10 10 2 10 0 10 | 8 235‘241
4 9 | 15 o |15 1|15 9 |15 1 |15 13 |15 12 |15 o |15 16 |17
) 0 2 0 2 00000 | 05328
F{TA 16 | 17 0o | 15 1|15 2 |15 1 |15 7 |15 1 |15 o |15 7 |15 0 10
0 0 0 0 0 0 0 |18 146‘274
5 15 | 11 15 ] 9 16 | 17 15 ] 9 17 |15 17 |15 15 |13 15 | 7 15 |11
N 2 0 2 0 35000 | 13073
%8 15 | 13 15| 6 15| 8 15| 2 13 |15 15 |10 9 |15 15 |12 16 |17 68 3
10 10 6 10 10 10 6 14| 4 |268 205
6 12 | 15 15| 6 15 | 12 15 | 11 15 | 17 15 | 11 15 |12 15 | 1 17 | 16
_ 1 1 2 0 35000 | 12370
a—7 A 15 | 12 15 | 13 15 | 11 15 | 11 15 | 13 15 |13 9 |15 15 | 7 13 | 15 62 4
4 10 10 10 10 10 2 14| 4 261 |2n
7 12 | 15 15 | 12 15| 8 15 | 13 15 | 17 1] 15 9 |15 15| 9 10 |15
_ 1 1 2 0 0.8000 | 09791
o—75 ¢ 17 | 16 15 | 10 14 | 16 15| 7 10 | 15 13 | 15 8 |15 15 | 11 10 | 15 38 7
2 10 6 10 10 0 8 |10 234\239
8 15 | 13 15| 6 15 ] 7 15 | 12 13 | 15 12 | 15 5] 9 15 | 2 12 |15
2 0 2 0 50000 | 14348
EASYZ-A 15| 5 15 ] 7 16 | 14 15 | 11 15 9 15 9 15 8 15 |13 16 |14 74 1
10 10 10 10 10 10 2 15 | 3 264‘184
9 9 | 15 1|15 13 | 15 5] 0 7 | 15 T 9 | 15 2 | 15 7 |15
. 0 2 0.1250 | 0.7250
AHISAM| o | 15 13 | 15 13 | 15 5] 0 12 | 15 7 | 15 11 | 15 13 | 15 7 |15 10 9
0 0 0 10 0 0 2 |16 174‘240
10 15 |13 15 | 10 15 | 12 17 | 16 1 |15 16 | 17 15 |10 15 |12 15| 7
_ 2 0 2 0 50000 | 12981
0—7 B 15 |11 15 6 15 | 10 15 7 17 |16 15 | 13 15 |10 14 | 16 15 | 7 74 2
10 10 10 10 10 10 15 | 3 270‘208




T1800%F FiE

2y hYF XB5=10m AI=6m DF=48 NPE=21 AlF=0=
g N . e N tyhE KA
a—1 KAPSAVII | 1 oNE-A MT3 BAESVC-A | O—F LoP |, KRB | gk x | RARAVIL gz A B4z
B JTRAL—E-A A
# ] x| 8] %
1 159 15 |12
) 3.0000 1.1186
a—1 157 15 |13 60 2
10 10 12 ‘ 4 217 ‘ 194
2 9 |15 1|15
" . 0 0.1429 0.7143
*;"'""’B'f’m" 7 |15 7 |15 4 11
0 2 ‘ 14 | 10 ‘ 238
3 12 | 15 15 | 11
0 2 0.7778 0.9336
TONE-A 13| 15 15 7 32 8
10 7 ‘ 9 197 ‘ 211
4 15 | 10 15 | 11
2 10.0000 1.4070
o 15 7 15 8 80 1
10 10 16 ‘ 0 242 ‘ 172
5 15| 7 15 | 11
2 2.2000 1.1809
MT3 15 6 15 | 13 52 4
0 10 1 ‘ 5 222 ‘ 188
6 1|15 5] 9
0 2 0.4545 0.8507
#HAFESVC-A 14 | 16 15 | 12 26 10
5 ‘ 1| oss ‘ 221
0.6000 0.8889
28 9
6 ‘ 10 | 200 ‘ 225
2.2000 1.1990
56 3
1 ‘ 5 235 ‘ 196
0.7778 1.0488
36 7
7 ‘ 9 215 ‘ 205
2.2000 1.1465
50 5
1 ‘ 5 227 ‘ 198
0.0000 0.6639
0 12
0 ‘ 16 | 160 ‘ 241
1.0000 1.0792
42 6
8 ‘ 8 218 ‘ 202




T2100%8 FiE AJN-T

2y byF XB5=108 DIB=61 H=4K DIE=25 A}=0%K
Yy N . yhE RAULE
YIRAL—E- | F—LIlUVa EASYZ-B mixture HAFESVC-B HHEsve WEVIMAL— | SAVRM—= ] L&l As BEb B
B
BEIERE
1 15 |10 16 |14
REE 1 1 07143 09236
VI AL—E- 12 |15 155 26 6
B
6 0 5 ‘ 7 145 ‘ 157
2 10| 15 15 |12
1 1 1.4000 11224
F—LllVa 15 | 12 151 9 34 5
2 10 7 ‘ 5 165 ‘ 147
3 14 | 16 12| 15
0 2|0 2 03333 08485
EASYZ-B 5 |15 9 |15 16 10
0 0 3 ‘ 9 140 ‘ 165
4
15| 6 15 | 11 15 | 11
R 2 0|2 0 10.0000 15965
a—FK 15 | 11 15 | 13 15 | 10 60 2
10 10 0 12 ‘ o | 182 ‘ 114
5 16 | 14 13| 15
_ 1 1 05000 08623
RE—957 10 | 15 7 |15 14 11
2 0 4 ‘ 8 144 ‘ 167
6 15 | 10
1.4000 1.0323
mixture 15 | 12 36 4
10 7 ‘ 5 160 ‘ 155
7
0.0000 05304
#HAFESVC-B 0 13
0 ’ 12 | 96 ’ 181
8
N 07143 0.9806
BESvVC 24 8
5 ‘ 7 | 152 ‘ 155
9
10.0000 1.6981
BT AL— 60 1
12 ‘ 0 180 ‘ 106
10
05000 07917
SAVRR— 1 14 12
10 2 0 0 0 2 4 ’ 8 133 ’ 168
" 15 | 11 15| 8 12 |15 15| 8 15 |10 15 |11
2 0 0 30000 1.3435
TONE-B 15| 7 15 |13 13 |15 15 |10 16 |17 156 46 3
10 10 0 0 0 9 ’ 3 176 ’ 131
12 17| 16 12| 15 8 |15 15 |10 10 |15 11 |15
2 oo 2 0 1.0000 09937
e Ak 15| 5 9 |15 12 |15 15 | 7 17 |16 17 |15 24 7
10 0 0 0 6 ‘ 6 | 158 ‘ 159
13 7 |15 7 |15 9 |15 15 |11 11 |15 15 |11
0 2|1 1 05000 08480
FrUR 14 |16 15 | 12 15 | 12 16 |17 6 |15 15 [17 16 9
0 2 4 l 8 | 145 l m




T2100% F& BUIN-T

2y hRYF XB5=10m =61 D=4 NPE=21 AlF=0=
. TyhE RAURER
#HMIHMARS-B D*F A-FOUR | ACIEZED five| Hi#MESVC FRIERSVC-A | collabo.m XZFESVBC JARTTL BHA [[:354
HEIERE
1 9 |15 12 |15 8 |15
1 03333 07619
#HHMHHOMARS-B 6 |15 10 |15 15 |10 12 10
0 0 2 3 ‘ o | 128 ‘ 168
2 5] 9 12 |15 15 |10
) 9 11.0000 1.5804
D*F 15| 6 15 |11 15 |11 56 1
0 10 11 ‘ 1 177 ‘ 112
3 15 | 12 15 | 12 15| 7
2 2 5.0000 1.3158
A-FOUR 15 | 10 1] 15 15 |13 48 2
0 2 10 10 ‘ 2 | 175 ‘ 133
4 15| 8 10 | 15 7 |15
1 03333 0.8208
ACIEZED five 10 | 15 1] 15 13| 15 10 11
0 3 ‘ o | 142 ‘ 173
5 1|15 1315 15 | 12
1 05000 0.9571
HHESVC 1] 15 8 |15 14 | 16 22 7
0 6 4 ‘ 8 | 156 ‘ 163
6 1] 15 16| 17
1 03333 0.8494
Loop, ! 5 |15 15 | 11 16 9
6 3 ‘ o | 141 ‘ 166
7 5] 9
2 2.0000 10724
FERABSVC-A 15 | 11 34 5
10 8 ‘ 4 163 ‘ 152
8
3.0000 1.2985
colLLabo.m 46 4
9 ‘ 3 174 ‘ 134
9
0.0909 0.6648
XZESVBC 2 12
0 1 ‘ 1 121 ‘ 182
10 5] 8 15 |13 15 |10 16 |14 15 |12 15 |12
R 2 2 0 1 5.0000 11711
YNF4— 15 11 16 |14 16 |14 15 |12 10 |15 15 17 48 3
0 10 0 10 10 ‘ 2 178 ‘ 152
" 15| 10 5 |15 13 |15 14 |16 12 |15 15 |13
2 07143 0.9371
UnwH—X 5] 9 9 |15 10 |15 15 |11 15 |10 1 |15 24 6
0 0 6 5 ‘ 7 149 ‘ 159
12 1315 8 |15 1] 15 17 |15 12 |15 13 |15
. 0 0 07143 0.9387
Vi=F.OZIN 10 | 15 6 |15 16 | 14 15 | 3 17 |15 15 |11 20 8
0 10 5 ‘ 7 153 ‘ 163




60U LDE AIN-T

2ty bYF XB5=10m DI=6= DF=451 DIE=251 AlF=0m
. . . R i tybE | RIURE
ThE= [FE<EA AIR FORCE \ ACIEZEER [ 2291 J[=Xiv
#lx|®/|=x
1 15| 6 13 |15
_ 2 0o 2 20000 | 13178
THE= 15| 8 16 |17 38 4
10 0 8 | 4 170‘129
2 6 | 15 15| 6
.o 2 2 05000 | 08333
[EE<BA 8 | 15 15 |12 18 7
0 10 4 | 8 [135 ‘162
3 15 | 13 6 | 15
2 0| o 2 14000 | 1.0516
AIR FORCE 17 | 16 12 |15 32 5
10 0 7 | 5 163‘155
4 15| 4 15 9
" 2 02 50000 | 1.7426
"NH—X 15 | 12 15 | 13 50 1
10 10 10 | 2 (176 ‘101
5 3 |15 11| 15
_ 0 2 0 0.0000 | 0.5000
Hh9ITS2Ah(C) 6 | 15 5 |15 0 9
0 0 0 ‘12 91 ‘132
6 15 | 12 11| 15
] R 11 1 05000 | 0.7901
ACIEZEED 7 |15 15 | 13 14 8
2 2 4 ‘ 8 128‘162
! p 0L 8yl o 10 3.0000 | 1.2214
*;""H’C'f’”" 15 | 12 8 | 15 a2 |7 ' 2
10 0 10 10 2 10 9 ‘ 3 160‘131
8 14 | 16 16 | 14 16 | 14 15| 4 9 |15 15 |10
0 2 1 1] 2 0 2 0|1 1 2 0 2.0000 | 1.2183
[ 12 | 15 16 | 17 15 | 12 5] 9 15| 7 15| 9 42 3
0 6 10 10 6 10 8 ‘ 4 173‘142
9 11 ] 15 13 | 15 1 |15 15 | 13 13 | 15 10 | 15
1 11 1 0 2|2 0 0 210 2 05000 | 0.8095
Th&lLE 15| 8 15 | 12 11| 15 17 | 15 6 |15 9 |15 22 6
6 6 0 10 0 0 4 ‘ 8 136‘168




60 LD BIIN-T

2y YT XB5=10R D =61 DI=4x1 DUIE=2x1 AlI=0=
_ . i N TybE | RIUbE
HHMIHMARS-A| WHES B HAS—F A |AYTS5UH(B)| ACIEEE JK | FARERSVC-B Mba JIE 43z
Bl R &K
10 5 |15 12 |15 9 |15
0 210 0 2 0.0909 | 05739
HHMHMARS-A 9 |15 6 |15 7 |15 2 8
1 ‘ 11 | 101 ‘176
12
3.0000 | 1.3438
WwHES B 48 1
9 ‘ 3 172‘128
13
14000 | 1.0360
HAS—k A 36 4
7 ‘ 5 144‘139
14
) 0.5000 | 0.9119
HhYyITS52h(B) 18 6
4 ‘ 8 145‘159
15
' 14000 | 1.0323
ACIEZER JK 26 5
7 ‘ 5 160‘155
16
50000 | 1.3359
FEEERSVC-B 44 2
10 ‘ 2 |171 ‘128
17
3.0000 | 1.2042
RS 44 3
9 ‘ 3 171 ‘142
18
0.0909 | 0.7861
O—5 E 6 7

136‘173




60 LDAEB CHN-T

2 Y bYF XB5=1012 DIFE=612 DF=4m DFE=28 Al}=0m
) o _ KEEHST T8 | TybE | RIUbE
CEASVC  |E—F7715—X|FIRE CROSS-A|#8#KY—L4 D| +£RESVC AAS—KB |1V RA—> (el (B Bz
Bl x| & &
19 9 |15 16 |17 15 | 9 13 |15 15 | 11 15 | 8
0 0 2 0 2 2 0 1.0000 | 1.0779
ZIHMSve 13 |15 9 |15 15 | 11 17 30 4
6 ‘ 6 166‘154
20
10.0000 | 1.7143
E—F7745—X 60 !
12 ‘ o |80 ‘105
21
14000 | 1.0759
FIRE CROSS-A 34 3
7 ‘ 5 170‘158
22
o 03333 | 07110
fEHRK)—L D 6 8
3 ‘ 9 123‘173
23
20000 | 1.1361
+ESVe 42 2
8 ‘ 4 |167 ‘147
24
07143 | 09390
HAS—FB 24 5
5 ‘ 7 154‘164
25
03333 | 08253
S4URR— N 16 6
3 ‘ 9 137‘166
26
KEHST T o | oso00 | 0826 |

(THRA)

141 ‘171




70 _EDEB

2 Y MIYF XB5=10m DIE=6m DF=4m DFEa=2m AlF=0=
) . _ . tyhE | RaobE
=AIFIE (A9 ITS2hD)| p&HhES A |FIRE CROSS-B| HA5—kC HhiE b | I 5z
Bl x| F| &
1 15 | 6 15 [13 15 13 15 10 15 | 7
) 2 2 2 2 9.0000 | 1.4151
Y IEES 17 |16 15 |12 15 | 6 15 | 8 13 |15 46 1
10 10 10 10 9 | 1 |150[106
2 6 | 15 15 |12 17 |15 15 10 11 |15
. 0 2 2 1 1.0000 | 1.0157
HhH5TS52h(D) 16 | 17 15 | 7 15 | 6 11 |15 8 |15 26 3
0 10 10 6 5 | 5 [129 [127
3 13 | 15 12 | 15 15 | 5 17 |15 10 |15
0 0 2 2 0.6667 | 1.0750
WwHESD A 12 | 15 7 |15 15 | 2 15 | 8 13 |15 20 4
0 0 10 10 4 | 6 [129]120
4 13 | 15 15 | 17 5 | 15 15 13 10 |15
0 0 0 1 0.1111 | 05867
FIRE CROSS-B 6 | 15 6 | 15 2 |15 8 |15 8 |15 2 6
0 0 0 2 1 |9 |88 150
o 10 | 15 10 | 15 15 | 17 13 | 15 7 |15
B 0 1 0 1 0.2500 | 0.7447
hAS—k C 8 15 15 | 11 8 15 15 8 4 |15 8 5
0 2 0 6 2 | 8 [105|141
6 7 |15 15 | 11 15 | 10 15 | 10 15 | 7
. 1 2 2 2 2 9.0000 | 1.4343
HHiE 15 | 13 15 | 8 15 | 13 15| 8 15 | 4 42 2
2 10 10 10 10 9 | 1 (14299




I>I31DEp

2y bV F X5=10m PIF=6m DI=4" DIE=2" AlIF=0=
. . - TYbE |Raob®l
FELD LWob &HEEIER|  YONAIZUMI EbpAX Lot #HAESVC-C | FIRE CROSS-C| AH TS h(B)| b A [[:¢iva
Bl x| "/ X
1 15| 8 10 |15 15 |13 15 | 1 15| 6 15 |11 15 |13
2 0|1 112 0|2 0|2 0|2 0|2 0 13.0000 | 1.5259
FTEWNS 15 |12 15| 7 15 |13 15 | 4 15 |11 16 | 14 15 | 7 66 1
10 6 10 10 10 10 10 13 ‘ 1 206‘135
2 8 | 15 15 9 9 |15 15| 6 15 | 7 14 |16 15 |12
0 2 1 110 2|2 0] 2 0] 1 1] 2 0 1.3333 | 1.1341
L\ob £DEENER 12 | 15 11 |15 12 |15 15 |13 15 |12 15| 7 15 | 7 42 4
0 6 0 10 10 6 10 8 ‘ 6 186‘164
3 15 | 10 9 |15 15 |12 15| 5 6 |15 15| 9 15 |10
1 11 1 1 112 oo 2 |1 112 0 1.3333 | 1.0000
YONAIZUMI 7 |15 15 | 11 10 |15 17 |16 11 |15 8 |15 15 |10 28 6
2 2 2 10 0 2 10 8 ‘ 6 173‘173
4 13 | 15 15| 9 12 | 15 15 | 4 16 |17 1|15 15 |10
o ]o 212 0|1 1 2 01 110 2| 2 0 1.3333 | 1.1779
EFEvAX 13 | 15 15 | 12 15 | 10 15 | 11 15 | 8 7 |15 15 | 7 42 3
0 10 6 10 6 0 10 8 ‘ 6 192’163
5 1 |15 6 | 15 5 | 15 4 |15 12 |15 11 |15 15 |12
. 0 ——— 210 210 210 —— 2 0 2|02 |1 —F—1 0.0769 | 0.6220
Lot 4 |15 13 | 15 16 | 17 11 | 15 13 |15 6 |15 13 |15 6 7
0 0 0 0 0 0 6 1 ‘13 130‘209
6 6 | 15 7 |15 15| 6 17 | 16 15 | 12 12 |15 15| 9
0 200 212 0/ 1 1] 2 0 0 2| 2 0 1.0000 | 0.9462
HAESVC-C 11| 15 12 | 15 15 | 11 8 | 15 15 | 13 12 |15 16 | 14 32 5
0 0 10 2 10 0 10 7 ‘ 7 176‘186
7 11 | 15 16 | 14 9 | 15 15 | 11 15 | 11 15 | 12 15| 8
0 21 1] 1 112 0] 2 0] 2 0 2 0 2.5000 | 1.2308
FIRE CROSS-C 14 | 16 7 |15 15| 8 15 | 7 15| 6 15 | 12 15 | 6 48 2
0 2 6 10 10 10 10 10 ‘ 4 192’156
8 13 | 15 12 | 15 10 | 15 10 | 15 12 | 15 9 |15 8 | 15
. 0 200 200 210 21 110 200 2 0.0769 | 0.6699
HYITS2H(E) 7 |15 7 |15 10 | 15 7 |15 15 | 13 14 | 16 6 | 15 2 8
0 0 0 0 2 0 0 1 ‘13 140’209




